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[bookmark: _GoBack]This answer would easily gain full marks1. Both transformers utilise a soft iron core with a primary and secondary coil that are linked by changing magnetic flux. 
2. Both have different output voltages compared to their supply (20V a.c.) . 
3. Transformer A will output ~40V but transformer B will output ~10V (calculated using the transformer equation). 
4. Transformer A is a step-up transformer whereas transformer B is a step-down transformer. 
5. Both transformers function the same:
· Transformers of this type work by an alternating current that is supplied to the primary coil. This induces a changing magnetic field in the soft iron core. 
· The secondary coil is wrapped round the same iron core and is linked to the primary coil by the changing magnetic flux which cuts it. 
· According to Faraday’s law of electromagnetic induction, this induces and alternating e.m.f across the secondary coil so long as it is not part of an external circuit. 
· If this is the case, however, an alternating current is induced in the secondary coil. 
· The difference in the number of turns on the primary compared to the secondary (ratio of no. of turns) determines whether the transformer is a step-up or step-down as shown by the transformer equation. 
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11 This question is about transformers.

Look at the information about two different transformers.

transformer A transformer B
Type of core iron iron
Number of 500 1000
primary turns

Number of

secondary turns 1000 500
Input voltage 20 volts AC 20 volts AC

Write about the similarities and differences between transformer A and transformer B.
Include information about how the transformers work, their construction and their output voltages.

/ The quality of written communication will be assessed in your answer to this question.




